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27-30 Approximate the sum of the series correct to four
decimal places.
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See 12.5 Worksheet - By hand, you'd churn these out until you found a term
that was less than .0001, and take the sum directly before.
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32-34 For what values of p is each series convergent?
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I think we're just 1ook1ng to see what it takes to make the sequence of terms
to converge to zero.
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35. Show that the series = (—1)""'b,, where b, = 1/n if n is odd
and b, = 1/n*if n is even, is divergent. Why does the Alter-
nating Series Test not apply?
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